Total Pages—14 C/ 17/B.Sc./Part-II(G)/3T{N}/Physio./2

NEW
2017
Part II 3-Tier
PHYSIOLOGY
PAPER—II
(General}
Full Marks : 90
Time : 3 Hours
The figures in the nght hand margin indicate full marks.

Candidates are required to give theilr answers in their

own words as far as practicable.

Nlustrate the answers wherever necessary.

Group-—A

Answer any ftwo questions, taking one question
from each Sub-groups. 13x2

Subgroup—A(a)

1. (a) What is Node of Ranvier ? State its functions.
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(b) Describe the mechanism of impuise transmission

through the neuromuscular juncticn,

(c) Write in brief about isotonic and 1sometric contraction.

(1+3)+7+(2+2)

2. {a) What do you mean by lower motor neurone ?

(b) Describe the origin, course and termination of

pyramidal tract with a neat diagram.

{c} Mention the functions of cerebral cortex.

2+(3+3+3)+4

3. (a) Describe the histological structure of skin.
(b} What do you mean by ecrine and apocrine gland ?

(c) Describe the regulation of sweat secretion in human

body. 6+4+5

Subgroup—A(b)

4. [a) Describe the distribution and functions of sympathetic

nervous system.

C/17/B.Sc./Part-1(G)/ 3T(N) / Physio. /2 {Continued)



(b) Discuss the functions of anterior pituitary hormones.

(5+4)+6

5. (a) Describe the origin, course and neural pathway of

- olfactory impulses,
(b) Discuss in brief the physiological basis of colour

vision.

(c) What is dark adrptation ? (3+2+2)+5+3

6. (a) Name the hormenes secreted from testis and briefly

mention their functions.

(b) Describe the histological structure and development

of mammary gland mentioning its hormonal control.
5+(5+5)

Group—B

Answer any five questions, taking at least two questions

from each Sub-groups. 85

Subgroup—B(a)

7. (a) What is reflex action ?
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{b)

10. (a)

s

(b)

Write down the properties of reflex, action.

Mention the classification of reflex action.

2+3+3

What is action potential ?

Why receptors are considered as biotransducers ?

4+4

What do you mean by degeneration of nerve fibre ?

How does regeneration of nerve fibre take place ?

2+6

Classify hormones with examples.

Describe the role of hypothalamus on food intake.

4+4

Mention the important functions of basal ganglia.

State the major functions of posterior pituitary

hormones. 4+4
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12.

13.

14,

i85,

16.

{a)

{b)

(a)

(b)

(a)

(b)

- (b)

(a)

(b)

Subgroup—B(b)

Mention the names of hormones secreted from

placenta.

State the functions of placental hormones. 2+6

Mention origin and functions of gastrin.

Describe the role of hormones for maintenance of

pregnancy. 2+6

State the difference between red and white muscle

fibre.

Describe the role of calcium on skeletal muscle

contruction. 4+4

What are primary colours ? Why they are named so ?

Mention the different types of colour blindness and

their underlying reasons. (2+1)+(2+3])

What is Olfactometer?

How olfactory sense is perceived. by man 2
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(¢} What do you mean by olfactory adaptation.
2+4+2

Group—C

Answer any five questions, taking at least two questions

from each Sub-groups. 4x35

Subgroup—Cia)

17. What is CSP? Mention its functions. 1+3

18. What is heat stroke? Write a brief note on the

management of heat stroke. 143

19. Write notes on :
{a) Refractory period.

(b) End plate potential. 2+2

20. What is meant by rheobase and chronaxie ? 2+2

21. (a) What do you mean by all or none principle ?

(b) What is muscle spindlc ? 2+2
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Subgroup—C{b)
22. How does accomodation of eye take place? 4
23. Write a brief note on decerebrate rigidity. 4

24. Give a brief account of role of parathormone in calcium

metabolism. 4
25. State the functions of melatonin in human body. 4

26, (d) What are the secondary sex character in man?

(b) What is law of projection ? 2+2
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